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Instructions
1. Rough work at the last page should be in proper manner too
2. New section on new page
3. Honesty is the best policy.
SECTION-A

Q1. In fig. the graph of the polynomial p(x) is given. The number of zeroes of the polynomial is:

Al B2 cs3 Do
Q2. Ifa, Bare the zerose of a polynomial p(x) = x2 + x - 1, then, a? + % is equals to:
3 5 1
AL B2 ci D
Q3. The quadratic polynomial, the sum of whose zeroes is -5 and their product is 6, is:
A x2+5x+6. B x2-5x+6. € x-5x-6.
Q4. The graph of y = p(x) is given in the adjoining figure. Zeroes of the polynomial p(x) are:

A -5,7 B
€ -5,0,7 D -5,
Q5. llnan AP, if the first term (a) = — 16 and the common difference (d) = 2, then the sum of first 10 terms is:
A -200 B -70 C -250 D 250
Q6. The zeroes of the polynomial x2 - 3x — m (m + 3) are:
Amm+3 B-mm+3 Cm,=(m+3) D -m,—(m+3)
Q7. Ifa, Bare the zerose of a polynomial p(x) = x> + x - 1, then, = + g equals to:

Al B2 c-1 D

Q8. The number of zeroes for a polynomial p(x) where graph of y = p(x) is given i Figure, is:

y=pe)

A3 B4 co D5

Q9. The degree of polynomial having zeroes -3 and 4 only is:

]

A2 B1 € More than 3 D3

Q10. Directions: In a statement of Assertion (A) is followed by a statement of Reason (R). Choose the correct option.
Assertion (A): If the graph of a polynomial touches x-axis at only one point, then the polynomial cannot be a quadratic polynomial.
Reason (R): A polynomial of degree n(n > 1) can have at most n Zeroes.

A Both, Assertion (A) and Reason (R) are true and Reason (R) B Both, Assertion (A) and Reason (R) are true but Reason (R) is not
is correct explanation of Assertion (A). correct explanation for Assertion (A).
C Assertion (A) is true but Reason (R) is false. D Assertion (A) is false but Reason (R) s true.

Q11. For what value of k, (- 4) is a zero of the polynomial x2 - x - {2k + 2)?

3. Determine the axis of symmetry for the quadratic polynomial represented in the yoga pose figure, given by y = 3x 2 + 6x + 2.

Q27. Shray, who is a social worker, wants to distribute masks, gloves, and hand sanitizer bottles in his block. Number of masks, gloves and sanitizer
bottles distributed in 1 day can be represented by the zeroes a, 3, 7 (, > 3, > 7) of the polynomial p(x) = x* - 18x? + 95x - 150.

Based on the above information, answer the following questions.
1. Find the value of a, f3, .
1.-10,-5,-3
2.3,6,5
3.10,5,3
4.4,8,9
2. The sum of product of zeroes taken two at a time is:
1.91
2.92
3.94
4.95
3. Product of zeroes of polynomial p(x) is:
1.150
2.160
3.170
4.180
4.The value of the polynomial p(x), when x = 4 is:
15
2.6
3.7
4.8
5.1fa, 3, 7 are the zeroes of a polynomial g(x) such thata + 8+ v = 3, a8 + fy + ya = —16 and afy = —48 then g(x) =
1.53-2%-48x+ 6
2.3 +3x? + 16x- 48
3.3-48x% + 16x+3
4.5%-3x2 - 16x+ 48
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Q12. Write the zeroes of the polynomial x? + 2x + 1.
Q13. If , Bare the zeroes of a polynomial, such that o + 3 = 6 and & = 4 then write the polynomial.
Q14. Ifa number x is chosen at random from the numbers -3, -2, -1, 0, 1, 2, 3, then find the probability of x? < 4.
Q15. Are the following statements 'True' or 'False'? Justify your answers.
If the zeroes of a quadratic polynomial ax? + bx + c are both positive, then a, b and c all have the same sign.
SECTIO!
Q16. Use Euclid's division algorith m to find the HCF of 255 and 867.

Q17. For what value of k, is 3 a zero of the polynomial 2x? + x + k?

Q18. A teacher asked 10 of his students to write a polynomyal in one variable on a paper and then to handover the paper. The following were the

answers given by the students:
2x+3, 3x? + Tx +2, 4x* +3x2 + 2
X+ VBT, Tx+ VT, B - Tx 42, 20 43— 2,
5x— 4, ax® +bx’ +ex+d, x+ L
Answer the following questions
1. How many of the above ten, are not polynomials?
2. How many of the above ten, are quadratic polynomials?

g

. The graph of a polynomial f(x) is as shown in Fig. Write the number of real zeros of f(x).
4

Q20. Find the zeros of the following quadratic polynomial and verify the relationship between the zeros and their coefficients:

h(t)=t2-15
Q21. Divide the polynomial f(x) = 3x - x* - 3x + 5 by the polynomial g(x) = x - 1 - x* and verify the division algorithm.
Q22. 1fx and f are the zeroes ofthe quadratic polynomial f(x) =’ + be-+¢, find evaluate: (% + ) + b(% + é)

2

Q23. If & and 3 are the zeros of the quadratic polynomial f(x) = x2 - p(x + 1) - ¢, show that (@ + 1) (8 +1) =1 — ¢

Q24. Find the zeros of the following quadratic polynomial and verify the relationship between the zeros and the coefficients:
2¢/3x% — 5x + /3
SECTIO!
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Q25. While designing the school year book, a teacher asked the student that the length and width of a particular photo is increased by x units each to 4 Marks

double the area of the photo. The original photo is 18cm long and 12cm wide. Based on the above information, answer the following questions:

1. Write an algebraic equation depicting the above information.
2. Write the corresponding quadratic equation in standard form.

3. What should be the ncvigdimensions of the enlarged photo?
x 18 cm -

School 12em
Photo

OR
3. Can any rational value of x make the new area equal to 220cm?

Q26. Read the case study given below and answer the questions that follow:

An asana is a body posture, originally and still a general term for a sitting meditation pose, and later extended i hatha yoga and modern yoga as
exercise, to any type of pose or position, adding reclining, standing, inverted, twisting, and balancing poses. In the figure, one can observe that

poses can be related to representation of quadratic polynomal.

1. Identify the type of polynomial represented by the yoga pose in the figure.
2. Write the general form of a quadratic polynomial.

3.If the yoga pose in the figure represents the graph of the quadratic polynomial y = 2x?- 4x + 1, find the vertex of the parabola.

OR
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